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ANSWER KEY

A.

Choose the best alternative according to Passage 1. (3 x 2 = 6 marks)
1. According to the article bullying is ...
A. done on purpose.

2. Statistics have shown that...
D. 3.2 million students in 6™-10™ grades become victims every year.

In emotional bullying the
person bullied is humiliated.
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Complete the paragraph using ONE word from Passage 1. (5 x 2 =10 marks)
1. broadly 2. especially 3.remarks 4. excluded 5.common

Choose the best answer according to Passage 2. (2 x 2 = 4 marks)
1. Rousseau believes that human beings...
A are by instinct good-natured beings

2. In T.V shows such as ‘Survivor’ and ‘Golden Balls’ we see what happens
when...
C. people have to choose between their relationships and money.

Indicate whether the following statements are TRUE or FALSE. (5 x 2 = 10 marks)
1. True 2. False 3. True 4. False 5. True

PART lll: USE OF ENGLISH (30 MARKS)

A.

ONoOGRWN =

Complete the second sentence so that it has a similar meaning to the first
sentence, using the word given. Do not change the word given.
(10 x 1 =10 marks)
have been reading this book since
new fashion magazine is being created
aren’t allowed to
apologised for telling
wouldn’t have missed
is the secretary arrogant
suggested organising/ that we should organise
must have forgotten




9. is not mature enough to
10. ought to have studied

B. Use the words given in brackets to form words that fit the blanks.
(10 x 1 =10 marks)

1. anxiety/anxiousness 2. improvement 3. revealed 4. happier 5. emotional
6. cycling 7.known 8. Lastly 9.strengthening  10.reconsider
C. Complete the gaps with ONE suitable word. (10 x 1 = 10marks)
1. of 2. about 3. and/or 4. without 5. of

6. to 7. with 8. than 9. be 10.more/better



